


Starter Starter for 10



DATE 14.07.2020
LO:To divide 2 digit by 1 digit numbers by 
partitioning into tens and ones (VF)

Success Steps:
1.Identify the divisor.
2.Partition the dividend into tens and ones.
3.Use related multiplication facts to divide the tens by the 
divisor.
4.Divide the ones by the divisor.
5.Recombine the answers to find the quotient.

RPS



Think AloudVF 

Success Steps:
1.Identify the divisor.
2.Partition the dividend into 
tens and ones.
3.Use related multiplication 
facts to divide the tens 
by the divisor.
4.Divide the ones by the 
divisor.
5.Recombine the answers to 
find the quotient.



Guided Practice VF

Success Steps:
1.Identify the divisor.
2.Partition the dividend into 
tens and ones.
3.Use related multiplication 
facts to divide the tens 
by the divisor.
4.Divide the ones by the 
divisor.
5.Recombine the answers to 
find the quotient.



Partner Practice FluencyVF

Success Steps:
1.Identify the divisor.
2.Partition the dividend into 
tens and ones.
3.Use related multiplication 
facts to divide the tens 
by the divisor.
4.Divide the ones by the 
divisor.
5.Recombine the answers to 
find the quotient.



Independent Application

88 ÷ 8 =

68 ÷ 2 =

99 ÷ 3 =



Think AloudVF 

Success Steps:
1. Identify the divisor.
2. Split the dividend using 

multiples of the divisor.
3. Use related 

multiplication facts to 
divide the tens by the 
divisor.

4. Divide the ones by the 
divisor.

5. Recombine the answers 
to find the quotient.



Guided Practice VF

Success Steps:
1. Identify the divisor.
2. Split the dividend using 

multiples of the divisor.
3. Use related 

multiplication facts to 
divide the tens by the 
divisor.

4. Divide the ones by the 
divisor.

5. Recombine the answers 
to find the quotient.



Partner Practice FluencyVF

Success Steps:
1. Identify the divisor.
2. Split the dividend using 

multiples of the divisor.
3. Use related 

multiplication facts to 
divide the tens by the 
divisor.

4. Divide the ones by the 
divisor.

5. Recombine the answers 
to find the quotient.

56 ÷ 4 =

51 ÷ 3 =



Independent Application

72 ÷ 4 =

96 ÷ 8 =

52 ÷ 4 =

Challenge


